P 2L d https://lwww.pass2lead.com/jn0-450.htm]
ass ea 2024 Latest pass2lead JN0-450 PDF and VCE dumps Download

https://Pass2Lead.com

JINO-450958As

Mist Al Specialist (JNCIS-MistAl)

Pass Juniper JNO-450 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/[n0-450.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

JNO0-450 PDF Dumps | JNO-450 VCE Dumps | JNO-450 Exam Questions 1/4


https://www.pass2lead.com/jn0-450.html
https://www.pass2lead.com/jn0-450.html
https://www.pass2lead.com/jn0-450.html

P 2L d https://lwww.pass2lead.com/jn0-450.html
ass ea 2024 Latest pass2lead JN0-450 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

How should Mist AP43 access points be mounted for location-based services?
A. table mounted (logo face up)

B. horizontal (logo face down)

C. vertical (wall mounted)

D. above the ceiling tile (logo face up)

Correct Answer: B

Reference: https://www.mist.com/documentation/adding-ap-location/

QUESTION 2

MARVIS

Natural Language  Query Language

* Org A, Sites

ACTIONS
0 Switch
2 AP

o0 Authentication 0 DHCP, DNS RF

2 Ap Offline

0 Health Check Fall.

AP OFFLINE [BETA]

RECOMMENDED ACTION

CHECK THE AP CONNECTION TO THE MIST CLOUD
For issues with individual APs, please test the cableport or perform a factory reset. For issues with tihe ensine switchsite,
please check the configuration to reach the MIST cloud.

Site Access Point Details Date

Store 37 s37-ap-1 Locally oniine, View More jul 27,2020 02:19 PM

Referring to the exhibit, which two statements are correct? (Choose two.)

A. The AP is able to reach the Mist cloud.
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B. The AP is not able to reach the Mist cloud.
C. The AP\\'s radios are not broadcasting SSIDs.
D. The AP\\'s radios are broadcasting SSIDs.

Correct Answer: B

QUESTION 3

Referring to the exhibit, what happens to all client traffic?

Isolation

prohibit peer to peer communication

Filtering (Wired to Wireless)

ARP
Broadcast/Multicast

Allow mDNS

DTIM Period
DTIM period | 2

A. All broadcasts and multicast packets would be blocked on a specified interface except ARPs, including DHCP
broadcast transactions, and IPv6 neighbor discovery frames (ICMPV6).

B. All broadcasts and multicast packets would be blocked on a specified interface, including IPv6 neighbor discovery
frames (ICMPv6), except ARP and DHCP broadcasts.

C. Broadcasts would be blocked, the AP would proxy ARP for the subnet, and Apple devices will not discover each
other using Bonjour.
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D. All broadcasts will be sent and the AP would proxy ARP for the subnet.
Correct Answer: C

Reference: https://www.mist.com/documentation/isolation/

QUESTION 4

Which two statements are correct when determining AP placement in the Mist UI? (Choose two.)
A. The AP height must be recorded correctly.

B. Use vBeacons to simulate user locations while verifying network coverage.

C. The floor plan map size should be properly scaled.

D. You must ensure that the floor plan map is oriented to face true north.

Correct Answer: AC

Reference: https://www.mist.com/documentation/good-location-setup/

QUESTION 5

You need to deploy an external, directional patch-panel antenna to provide coverage in a specific area. You plan to use
a Mist AP43, which has a 4-stream 5 GHz radio, a 4-stream 2.4 GHz radio, and a dual-band 2-stream radio for

monitoring. In this scenario, how many dual-band connectors should the antenna have?
A. 4 connectors

B. 10 connectors

C. 6 connectors

D. 3 connectors

Correct Answer: C

Reference: https://www.mist.com/resources/ap43-access-point/
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